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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-V « EXAMINATION — WINTER - 2014

Subject Code: 350203
Subject Name: Diagnosis and Testing-1 (Auto Engines)
Time: 10:30 am - 01:00 pm
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

(@) Describe following with references to 1.C. engine.
1. Specific fuel consumption
2. Mechanical efficiency
3. Volumetric efficiency
4. Indicated mean effective pressure
(b) Define tune-up. Explain typical tune-up procedure.

(@) Explain the procedure of testing thermostat valve.
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(b) Explain the procedure of reverse flushing of water cooling system.

OR
(b) Describe the process for servicing of water pump.

(@) Explain in brief:
(1) Piston scoring.
(2) Piston scuffing.
(b) Explain in brief:
(1) Vapour lock
(2) Percolation
OR
(@) Explain the procedure of valve refacing.
(b) Explain the servicing and setting of carburetor.

(@) Describe the procedure of engine decarburizing.
(b) Describe the procedure of compression test.
OR
(a) State the causes and remedies for overheating of engine.

(b) Explain the effect of clogged filter on the performance of engine.

(@) Describe the procedure in brief for calibration and phasing of F.1. pump.

(b)  Write short note on rope brake dynamometer.
OR

(@) Explain the procedure to replace fuel filter used in diesel engine.
(b) The following data was obtained during a trail on a four stroke diesel engine.
Stroke=36¢cm, Bore=24cm, Mean effective pressure=4.5bar, Speed=500RPM,

Net load on brake=550N, Diameter of brake drum=2m,

Calculate the Brake Power, Indicated Power and Mechanical Efficiency.
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